



Nom: _____

Date: _____ Note: _____

$$\frac{3}{2} + 4 \times \frac{1}{2} \div 2 + 3 \times 2 =$$

$$2,9 + 8 \times 4,9 \div 2 + 4 \times \frac{1}{2} =$$

$$\frac{1}{6} + 10 \times \frac{1}{2} \div 2 - 2 \times 3,1 =$$

$$\frac{1}{4} - 5,4 + 5 \times 4 =$$

$$5,3 + \frac{3}{2} \times 5 + \frac{1}{6} =$$

$$\frac{3}{2} + 2,6 - 2 \times \frac{2}{3} =$$

$$\frac{1}{4} + 12 \times \frac{1}{3} \div 3 - 4 \times \frac{2}{5} =$$

$$5,8 - \frac{1}{4} \times 5 - 4 \times \frac{3}{2} \div 2 =$$

$$\frac{1}{2} - 2,8 \times 5 + 6 \times \frac{1}{3} \div 3 =$$

$$\frac{1}{4} - \frac{3}{2} \times 5 - \frac{2}{5} =$$



Nom: _____

Date: _____ Note: _____

$$\frac{3}{2} + 4 \times \frac{1}{2} \div 2 + 3 \times 2 = \frac{17}{2} = 8\frac{1}{2}$$

$$2,9 + 8 \times 4,9 \div 2 + 4 \times \frac{1}{2} = \frac{49}{2} = 24\frac{1}{2}$$

$$\frac{1}{6} + 10 \times \frac{1}{2} \div 2 - 2 \times 3,1 = \left(-\frac{53}{15}\right) = \left(-3\frac{8}{15}\right)$$

$$\frac{1}{4} - 5,4 + 5 \times 4 = \frac{297}{20} = 14\frac{17}{20}$$

$$5,3 + \frac{3}{2} \times 5 + \frac{1}{6} = \frac{389}{30} = 12\frac{29}{30}$$

$$\frac{3}{2} + 2,6 - 2 \times \frac{2}{3} = \frac{83}{30} = 2\frac{23}{30}$$

$$\frac{1}{4} + 12 \times \frac{1}{3} \div 3 - 4 \times \frac{2}{5} = \left(-\frac{1}{60}\right)$$

$$5,8 - \frac{1}{4} \times 5 - 4 \times \frac{3}{2} \div 2 = \frac{31}{20} = 1\frac{11}{20}$$

$$\frac{1}{2} - 2,8 \times 5 + 6 \times \frac{1}{3} \div 3 = \left(-\frac{77}{6}\right) = \left(-12\frac{5}{6}\right)$$

$$\frac{1}{4} - \frac{3}{2} \times 5 - \frac{2}{5} = \left(-\frac{153}{20}\right) = \left(-7\frac{13}{20}\right)$$